
input_valid = 1

sqrt_out_valid_flag= 1

CALC_IDLE
--------------

NULL

CALC_MULTIPLY
---------------------

re_multiply_re = input_re²
im_multiply_im = input_im²

CALC_ADD
--------------

re2_add_im2 = re_multiply_re + 
im_multiply_im

CALC_SQRT
----------------

input_sqrt = re2_add_im2
start_sqrt_calc = 1

CALC_STORE_RESULT
---------------------------

output_magnitude = output_sqrt
output_valid = 1

Anmerkung:
start_sqrt_calc und output_valid sollen immer 0 sein außer in dem Zustand in welchen diese gesetzt werden 
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